STA.352 107#117* 18p % & -

AL e RMARE > T ﬁ“ﬁ*‘ﬁ’*iﬁ KRB IR (Tile
BB AR ALER P Y 23 Pﬂﬁif’f’}\%‘r,m/? AR GRS L i A LI T S
i B2 5 FEABKRPIE S RITICHF L na;/ﬂb Roo ik PpIk ¥
107 & ‘fb;L ' 25iFE &P M H2257T82 ERY B A(HFI)XFLE
1,526.7 > 2 } 67.6% » TR 54188822 F84% > ¢ B 5 445692 2 )
20.2% > B €5 28572 2 Pk 3.8% 0 F b E g o RA(f)K T S FR
CBEBT A B AAER S Y RE FET N F RIS H 409412060
pAE Brl07EE L N EAEERY £ RRE -
FEZF1028 1107 S F s P AHFIX SR F A RE AR
o a3t 105& 2 107 F e T 5 ¢ BRISAVFRgE R 0 P 106 5
16.1%E 6% kT4 £ REEh- & ; JrE A AV FEEARET F4ES > |1
30106# F g + 3 107 F 0 3 3 3.8% o SFEL} it ’fjf‘»wﬁﬂn*v'; @A A
%mwim‘%{ﬁ’wﬁﬁﬁﬁﬂfv% B A - gk

'3 4 T 7
102# 31 107# £ & 7 '35 g imin
-y EC DESE- RS R KEA %
Py £ (RPI=2.0) (2.0<RPI=3.0) (3.1=RP1=6.0) (RPI>6.0)
_g\}; ’Fj‘A\L_L g\fg ’ﬁ/,,\kb ‘Eﬁi ’ﬁ/,,\kb ‘5:52 —FT/”\LL
24 24 2% 24 % o2 % o2 %
102 2,257.8 1,402.3 62.1 199.4 8.8 537.7 23.8 118.5 5.2
103 & 2,257.8 1,448.1 64.1 201.2 8.9 492.8 21.8 116.2 5.1
104 & 2,257.8 1,554.8 68.9 181.7 8.0 423.8 18.8 97.9 4.3
105# 22578 1,511.6 67.0 166.0 7.4 513.9 22.8 66.6 2.9
106 # 2,257.8 1,651.9 73.2 170.2 7.5 363.1 16.1 73.0 3.2
107 & 2,257.8 1,526.7 67.6 188.8 8.4 456.9 20.2 85.7 3.8
a2
B e 125.2 (-5.6) 18.6 (0.9 93.8 (4.1 12.7 (0.6)
TR AR AR E FEFORT Rl A BT B2 "“%/?@
R p @ 1.RPI(River Pollution Index) i /7 """ /5 % » #g4p & > d R *F4(SS)~ £ i+ % 5 £(BOD5) ~ /3 ¥ £(DO)=

£ ¥ (NH3N) % 438 -k B S dicie & o
2“‘37;;'_ 'frZ % ++100.00% - I),/f"'] jai;%yhj'l T %I rEEEL o
I EAF AR

1024 -107# € & 7 "1 55 % 45 fhmin

% == R(PF)Z5H —@=EERITH —A-FREIGH:  —.—EEITH

80

60 oy

30 [

A
20 | A A A A 20.2
10 A
i @ O 0 -0 o— —@ 8.4
0 . 1 - 1 1 —8— 1 —— 1 3.8 ]
1024F 1034F 1044F 1054F 1064F 1074F

STA352-1



PG B R

=7%19.7%8] A
%#’ﬂ%ﬁﬂxﬁi

R
L

7 Fﬁf’%/“ ~ ER

32 5 100.0% -

107 £ &7 55 %3y pmin

£~d4m ik ﬁﬂfrl/’“k%\‘rﬁié

£ 5 (NH3N) %497 -k 7 fodicie & o

2.'m38 =2 % ++100.00% >

4 ,].g(g‘g,u'r Ds %1 PSELS =

STA352-2

o SC DERLE" ERFS YRS KL%
5ty R (RPI=2.0) (2O<RPI=3.0) | (3.1=RPI=6.0) (RPI>6.0)
£ B B A LB |[pAa £ R B £ R A
- - % o2 % o8 % =8 %
Aok k 323.4 243.1 75.2 21.9 6.8 43.8 13.5 14.7 45
WoBE 73.1 73.1  100.0 — — — — —
ook 45.4 39.9 87.8 3.3 7.2 2.3 5.0 — —
oW L 63.0 63.0  100.0 — — — — —
B 54.1 45.2 83.6 4.3 7.9 4.6 8.5 — —
¥ % 58.0 49.2 84.9 80 138 0.8 1.3 — —
<% R 95.8 94.3 98.4 1.5 1.6 — — — —
X9 g% 140.2 139.2 99.3 1.0 0.7 — — — —
5 % 116.8 102.8 88.0 10.9 9.3 3.1 2.7 — —
ok % 186.4 171.5 92.0 14.9 8.0 — — — —
A Bk 81.9 7.7 9.4 5.1 6.3 44.8 54.6 243 297
3 oz 75.7 35.1 46.4 5.0 6.6 29.6 39.1 6.0 7.9
~ ¥ R 80.9 20.2 24.9 155  19.1 45.3 55.9 — —
£ k% 65.1 16.8 25.8 4.9 7.6 27.3 419 16.1 247
¥ o2 i 138.5 97.6 70.5 248 179 15.7 11.3 0.4 0.3
- B Qpx 41.3 11.7 28.2 6.6 16.1 19.4  46.9 3.7 8.9
R 65.2 3.0 4.6 6.4 9.9 42.9 65.8 128 197
PGk 29.7 10.5 35.4 53 177 11.7 39.4 2.2 75
% B % 170.9 334 19.5 15.9 9.3 120.5 70.5 1.1 0.6
LB x 46.9 13.5 28.7 9.7 207 19.3 412 4.4 9.4
e € % 31.9 26.6 83.3 2.7 8.5 2.6 8.2 — —
% 3 £ 84.4 84.4  100.0 — — — — —
% e ik 81.2 47.4 58.3 11.3 139 225 27.7 — —
= i % 57.3 46.8 81.7 98 171 0.7 1.2 — —
{o T % 50.7 50.7  100.0 — — — — —
TR KR FRRRREEF R Rl RREERIZ Tk
® P : LRPI(River Pollution Index) %7 "'j5 % 4~ #fda 1% » d R ¥ FH(SS)~ 4 * % § £(BOD5) ~ i3 § £(DO)2



